Boeing 737-400 cruising at altitude 35,000 feet above sea level. See its lines of contrail.
Picture from MSFS 2002

The contrails of a four engined jet over London, England.

Contrails or vapor trails are condensation trails and artificial cirrus clouds made
by the exhaust of aircraft engines or wingtip vortices which precipitate a stream of
tiny ice crystals in moist, frigid upper air. Being composed of water, the visible
white streams are not, in and of themselves, air pollution. However, contrails
generated by engine exhaust are inevitably linked with typical fuel combustion
pollutants. Contrails might also be considered visual pollution.

From Wikipedia, the free encyclopedia

http://en.wikipedia.org/wiki/Contrail
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